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Note : Question No. 1 is compulsory. Attempt 

any four questions from Question Nos. 2 

to 6. Draw well labelled diagrams, 

wherever necessary.  

1. (a) Fill in the blanks with appropriate 

words : 5×1=5 

 (i) ................ are used to stain cell 

components to produce secondary 

fluorescence. 

 (ii) In endoplasmic reticulum, ....... are 

temporary storage sites for 

nutrients. 
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 (iii) ................... are the basic units of 

carbohydrates. 

 (iv) ................... are major structural 

components of the cell that are 

insoluble in polar solvents but 

soluble in non-polar organic 

solvents. 

 (v) ................... are small hydrophobic 

protein molecules which dissolve in 

the lipid bilayer and increase the 

ion permeability of the bilayer. 

(b) Match the terms given under Column I 

with those given under Column II : 

    5×1=5 

        Column I Column II 

 (i) Watson and  (1) Mobile carrier 

   Crick  model 

 (ii) Jonathan Singer (2) Molecular  

   and Garth   model of DNA 

   Nicolson  

 (iii) Sugar transport (3) Induced-fit 

     hypothesis 

 (iv) Emil Fischer (4) Fluid mosaic 

     membrane  

     model 

 (v) Daniel Koshland (5) Lock and key 

     hypothesis 
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2. (a) Explain the following methods of 

separation of biomolecules with the help 

of well-labelled diagram : 2×2
 

 
=5 

  (i) Ion-exchange chromatography 

  (ii) Electrophoresis 

 (b) Explain with the help of a diagram, how 

glucose is synthesized if the glycogen 

store is depleted. Why this metabolic 

process is considered to be costly ? 5 

3. Explain the role of proton pump in oxidative 

phosphorylation and photosynthesis. 10 

4. Explain glycolysis showing its various steps 

with the help of a diagram. 10 

5. Draw the structure and explain the function 

of any two plant cell and tissue types. 10 

6. What is mediated permeability ? Explain its 

types with the help of a labelled diagram. 10 
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 LSE–01 

foKku Lukrd 

(ch- ,l&lh-) 

l=kar ijh{kk  

twu] 2025 

tho foKku 

,y-,l-bZ-&01 % dksf'kdk thofoKku 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % iz'u la- 1 vfuok;Z gSA iz'u la- 2 ls 6 rd fdUgha pkj 

iz'uksa ds mÙkj nhft,A tgk¡ dgha vko';d gks] ogk¡ ij 

lqukekafdr fp= cukb,A 

1- (d) fjDr LFkkuksa dks mi;qDr 'kCnksa ls Hkfj, % 5×1=5 

  (i) .........dk mi;ksx dksf'kdk ?kVdksa dks 

vfHkjaftr djus ds fy, fd;k tkrk gS] ftlls 

f}rh;d izfrnhfIr mRiUu gks ldsA 

  (ii) ,.MksIykfTed jsVhoqGye (varnzZO;h tkfydk) 

esa] ........iks"kdksa ds HkaMkj.k ds fy, vLFkk;h 

HkaMkj.k LFky gksrs g®A 

  (iii) ..........dkcksZgkbMªsV dh ekSfyd bdkb;k¡ g®A 
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  (iv) ..........dksf'kdk ds eq[; lajpukRed ?kVd g®] 

tks /kzqoh; foyk;dksa esa v?kqyu'khy ysfdu 

v/kzqoh; dkcZfud foyk;dksa esa ?kqyu'khy gksrs 

g®A 

  (v) ............y?kq tyfojkxh izksVhu v.kq gksrs g® tks 

fyfiM f}ijr esa ?kqydj f}ijr dh vk;u 

ikjxE;rk dks c<+k nsrs g®A 

([k) dkWye I esa fn, x, inksa dk dkWye II esa fn, x, 

inksa ls lgh feyku dhft, % 5×1=5 

         dkWye&I dkWye&II 

 (i) okVlu ,oa fØd (1) lpy okgd  

     (eksckby dSfj;j) 

     ekWMy 

 (ii) tksukFku flaxj ,oa  (2) Mh-,u-,- dk  

   xkFkZ fudksYlu  vkf.od ekWMy 

 (iii) 'kdZjk vfHkxeu (3) izsfjr&fQV 

     (baM~;wLM&fQV) 

     ifjdYiuk 

 (iv) ,fey fQ'kj (4) rjy ekstSd  

     f>Yyh ekWMy 
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 (v) Msfu;y dks'kyS.M (5) rkyk&dqath 

     (ykWd ,aM dh) 

     ifjdYiuk 

2- (d) lqukekafdr fp=ksa dh lgk;rk ls tSov.kqvksa ds 

i`FkDdj.k dh fuEufyf[kr fof/k;ksa dks le>kb, % 

2×2
 

 
=5 

  (i) vk;u&fofu;e o.kZys[ku 

  (ii) oS|qrd.k&lapyu (bysDVªksQksjsfll) 

 ([k) fp= dh lgk;rk ls le>kb, fd Xykbdkstu ds 

HkaMkj ds de gks tkus ij fdl izdkj Xywdkst dk 

la'ys"k.k gksrk gSA bl mikip;h izfØ;k dks eg¡xh 

D;ksa ekuk tkrk gS\ 5 

3- vkWDlhdj.kh QkWLQksfjyhdj.k vkSj izdk'k&la'ys"k.k esa 

izksVkWu iEi dh Hkwfedk dks Li"V dhft,A 10 

4- Xykbdksfyfll dh O;k[;k fp= dh lgk;rk ls mlds 

fofHkUu pj.kksa dks n'kkZrs gq, dhft,A 10 

5- fdUgha nks ikni dksf'kdk vkSj Ård izdkjksa dh lajpuk dk 

fp= cukb, vkSj muds dk;ks± dks crkb,A 10 

6- e/;LFk ikjxE;rk D;k gS \ blds izdkjksa dks lqukekafdr 

fp= dh lgk;rk ls le>kb,A 10 

× × × × × 


